Sr

Questions

The digit 1,2,3,4,5 are teh roll numbers of 5 students there roll numbers are written on the
paper slips and two paper slips are selected of random without replacement. The possible
combinatious are.

Five cards are selected at random from a pack of 52 cards without replacement. The
possible combinations are.

Two cards are selected at random with replacement from a pack of 52 playing cards. The
possible outcomes are.

When a dice are rolled, the possible outcomes are.

Answers Choice

A
B.
C.
D.

N — ON

0
5
A. 2704
B. (52)5

C. 2598960
D. 260



